Miscellaneous work sheet - 11

The bar graph given below shows the percentage distribution of total
expenditure of a company under various expense heads during a year.
Study the graph carefully and answer the questions that follow:
Percentage Distribution of Total Expenditure of a Company
&S OCETHHBULLBeTen eUdIULLD (h BpeuardHar GBI L SLewigmaTe
ueLBaum CFevaiSHHeT FHAHHMSH aleNHGHHMBSHI. UMIULHmSH OFmewnih HGLD
CaTHHBLILULL  aeTHHEHHSE alenL e EHa|LD.
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The expenditure on the Interest on Loans is by what percent more than
the expenditure on Transport?

FLAIBEHGHITO el lp  OFeve, CuTsGHauIHHF OCFevemear ol THHemen
FHANHD DIHHD?

a.5% b. 10% c. 20% d. 40%

What is the ratio of the total expenditure for infrastructure and Transport

to the total expenditure on Taxes and Interest on Loans?

o el Lenoliy oBmIb CuThGarsHHBaTear OFevalamidbenear gn{HHev, eullsel
BHID L 19SEHTRT OFevalamiseier FnhHed DBHUeBBIET alSHHID HTewIsm.
a.5:4 b. 8:7 c.9:7 d.13:11

1| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




(APP& LD]

If the expenditure on Advertisement is ¥2.10 crores, then the difference
between the expenditures on Transport and Taxes is:

alenbuysSeHmaTer  GFevsy p 2.10 GCamg eleled, GCuUTHGUTHSH LOBBID
afleseEndsrear 0FaasendHE DenL ullevTel albHHWTFD eleien?

a.¥1.25 crores b. ¥ 95 lakhs c. ¥ 65 lakhs d. ¥ 35 lakhs

The total expenditure of the company is how many times the expediture
on Research and Development?

poeasSHer Orshsd OFeve], SITuIsFd wBmid  Gubur yBsTer  GgFevaller
615N DL RISTEHLD?

a. 27 b. 20 c. 18 d. 8

If the Interest on Loans amounted to ¥ 2.45 crores, then the total

expenditure on Advertisement, Taxes and Research and Development is:
FHLNBEHHBT Ul ly ef 245 Gadmg elefev, allembugld eufldeT  OBBID
ST wBpid Gwbum yBaTer CoTshg CFeve)

a. 3 7 crores b.¥ 5.4 crores c.¥4.2crores  d.3I 3 crores

Study the following pie-chart carefully and answer the questions given
below:
Cost Estimated by a Family in Renovation of their House

Total Estimated cost = ¥120000

Neiteau(phd aul L allendslLL SHd 0BTenih H6 OHTHSIUILLL  alaIMHDEHHE)
allenLWieM s aLb.

afilewL 1 yamniliugded @m GBLUSHBE DG CFeva)

pHIILLUC L Grdg QFeve = ep 1,20,000

Interior

Decoration
19%

10% - Painting |
o . 15%
9
Flooring /
14%

What is the difference in the amount estimated by the family on interior
decoration and that on architect's fees?

LHIILLU L OFHTmauled o 6T SRS WLBBID SLIQL S HeDEVEhHIT60T
&L uSHSHBHTT aSHHUITFID 616316017

a. ¥10000 b. ¥9600 c.¥7200 d. ¥9000

What is the central angle of Flooring cost?
SHOIULUGHHEHGH G Fevalar eulLenwuid GHTenid eleilelene)]?

a. 50.4° b. 52° c. b5° d. 53.6°
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What is the cost estimated by the family on painting and flooring
together?

@alwd LoB@ID SHMIHG GBLUSSTEL WHIILLIUL L GCrdHsh GFeve] ereiter?
a.¥ 36500  b.¥ 34800 c. ¥ 36000 d. ¥ 34500

The family gets a discount on furniture and pays 12% less than the
estimated cost on furniture. What is the amount spent on furniture?

DI FFTIDTHIBEhEE Helleplly GuBmp  wHII_' L Ostosmw ol 12%
GmBaTal  CFVISHHIHMEIT  6leled,  LOJFFFTOTEHIHEHHSTH  GFevall L’ L
AL 0k I I TH

a.¥13200 b. ¥ 14526 c. ¥ 13526 d.¥ 13728

what is the cost estimated by the family on furniture?
LOJEFSFTIOTAIHEHSBTH GBLOLUSHSTEL WHIILLIUL L COFHTensd 6l6ileleney?

a. Rs.13,600 b. Rs.12,600 c. Rs.15,600 d. Rs.17,600

In pie chart the total angle at the centre of a circle is :
all L alendall LULGHH6L all LemuidhdHed Bsment iene|HeMen Fn{hHdHe0
a. 90° b.180° c. 270° d. 360°

In AABC, the measure of £ A is greater than the measure of 2B by
24°. If the exterior angle of #Cis 108°, then #A=

AABCed A seigl /B ol 24° gifsd Goeid £ Ceit GleuerflleBpmemtid
108" erafled £ A

a. 46 b. 56° C. 66° d. 76°

The measures of the angles of a triangle are in the ratio 2 : 4 : 6, then the

angles of the triangle are

R WPECasTamsHFHer ey Comavimisene alflsmass 2 : 4 : 6 el6led
DIHT Cpmemt D616 H6iT

a. 30°, 60°, 90° b.20°,70°,90° c.40°, 60°,80°  d.26° 58°,96°

. The measure of each exterior angle of a polygon is 24° How many sides
does it have?
@@ UCaTadhH e @elbeurm Oeuallilimps Gosmeur(pld 24° ealed b
LIeVCHTeRIHHMBE 615HHEME LIbHMIBET 2 61161601’
a. 18 b. 12 c.15 d. 16

If x + y =10 and xy = 5 then the value of =+ is
y X
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X +y =10 wpmid Xy =5 eefled =+ -air 1wy
y X
a. 21 b. 19 c. 18 d. 20

Find the remainder when 4x3-5x2 + 6x -2 is divided by x-1
4x3-5x2+ 6x -2 -mw (X-1) Su60 UGBS Burgh HwL &G L5 e
a.4 b.0 c.2 d.3

What is the half of the area of the triangle whose vertices are (1,1) (3,1),
(1,3)?

b (pECaramsHe (wemenser (1,1), (3,1), (1,3) eafled oipet upliLenaied
LITE  &T6u&b.

a. 1 b.2 c.4 d.5

The exterior angles of a pentagon are in the ratio 6 : 3:4 : 3 : 2. Find all its
interior angles.

M WECasTanddHer GeolalsBsmanmesr 6 : 3 : 4 : 3 : 2 aaiB aldlHsHHe0
® 6iTeNedl 6T60N60 DIHGI 2 I CHTemIBIGBTT D66 HEN6TH  SHIT6uIb.

a. 60°, 120°, 80°, 160°, 120° b. 80°, 110°, 150°, 120°, 80°

c. 100°,170°, 160°, 40°, 70° d. 60°, 120°, 100°, 120°, 140°

Which one of the following cannot be the sides of a triangle?
LTeTau(HeaueTaIBMIeT 6Tenal (LpHBHTETSHH T LISBRIGBNTS B(HbH (LlQUITgl?

a.4,5,6 b.3,4,5 c.2,3,4 d.1,2,3

The length of a string between a kite and a point on a ground is 90 m. If
the string makes an angle ¢ with the level of ground such that tan 6= % ,

how high is the kite?
RH SITHBTYSGSD Heogulled o eten @ UsTalld@d ent G sl L’ L

sUBpler Hembd 90 5, oHH Sulp  HOIWLLLGHSHIL @ tan 6?:% 61601

Siwujory Csmewr Sieney (6) gBUBGSSHIFBSH aafled sTBBTY HaTuiedmHha)
aeleleNe)] 2 WFSHHed 2 eiTengl?

a.79 m b. 80 m c.7941m d. 80.4 m

Solution:
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tan@ = E

. AC _ 15
Le. — = —
BC 8

~BC=2381p
15

In 4ABC, by Pythagoras theorem,
AB* = BC* + AC?

2
90% = (Ehj + h?
15

he = (15x90j2
17

= h=7941 m

In Cartesian plane the points A(0, 0), B (3, 0), C(x, y) and D(0, 5)
represents a rectangle, then C(x, y) is

sriledlwer gensHeo A0, 0), B 3, 0), C(x, y) wspid D(0, 5) e
Letelaer Gaeileusdbmad GBldsmed C(X, y)ar g

a. (3,5) b.(5,3) c.(-53) d. (3,-5)

Solution:

A(0,0)
Midpoint of AC = Midpoint of BD

0+x 0+y) _ (3+0 5+0
2 72 2 2

39 (3

= (0 y)=35)

If the vertices of a parallelogram taken in order are respectively (7, -3), (5,
4), (1,5) and (p, - 2) then value of p is

T BemewasrsHer o FA Uetefser euflenswns (7, -3), (5, 4), (1, 5) wbmid
(p,-2) el SIMOBHSBTEO P 61 I

a. 11 b.12 c.7 d. 3

Solution:
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Midpoint formula = (% B2 ; VZJ

= Midpoint of AC = Midpoint of BD
(7+1 —3+5j _ (5+p 4-2
:> _l - )
2 2
= (4,

2

5+p
2

Find the quadratic equation whose roots are 3++/7 and 3-+7

347 LOBMILD 37 LB UIAIBNMB  CLPGUBIBONTS BT B(HLIg FLOGTUT(H
a.x2-6x+2=0 b.x2-13x+9=0
c.x2-9x+2=0 d.x2-9x+13=0
Solution:
Sum of the roots = 3+J7+ 3-7 =6

Product of the roots = (3+\/7) (3—\/7) 2

The required equation is
x* - (Sum of the roots) x + (Product of roots) =0
X —6x+2 =0

If ax? - 28x + 49 = 0 has equal roots. Then the value of a is
ax? - 28x +49 =0 6B FLOGIUTL 19681 (LPEUMIGB6IT FIOID 6T6dN60 A 681 DL
a. 1 b.2 c.3 d. 4
Solution:
If the equation has equal roots, then the discriminant D =0
i.e., b?—4ac=0
b2 = 4ac
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Miscellaneous work sheet - I1
Answer Key

516 |7

C A
15 17
C A
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